good
oooocoooooooooor

0000 (T10T2) 1000000 02016/ 5/ 2 10:25 a.m. 00000

go goog

gobgobooboobooobooboo obbobooboboobooboobobooboobobboboo
ooooo

Y

0
gboooobooobooooobomubOoOoOoOobOO0ObOO0ObOOobOobOOoOonDOO w
oo obodobob bbbt wbhOoboobOoobobooooooboooo rg F
gbbobodt¢t=000000r=r0r=0000000000000000 FO T
ggobodgbooboobooboobobboobooboobodanod

X

() DOOOoOoOOoOoODUOUOOOOOOO 0000000000 dDODOO0O0O0OOOODOOOOOOOODOO
goo

0=| (a) (m,r,w,t) (1)

F=| (b) (m,r,w,t) (2)
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A==%] () (m, w) (3)
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r= Aet + Be_t (4)
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r =rocosh| (d) (m, A\, w,t) (5)
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F=| (e (ro,m, w,t) (6)
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1=\ (f) (m,r,w, F) (7)

N = (g) (m,r,w,F) (8)
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(m,r,w,t)

(UTQ + 1192) = (1)

(TOa m,w, t)
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